40 000

3000

=
L & Acoansmoboe nokpeimue
o
% J +
MNaumka mpomyapHas
= HadubHele dopoxku U3 o “KupnuHuk”-
t N 2POHUMHOZ0 WEDHs R e Libem: cepsiu
= e NG =
<+ Mumka mpomyapHas
“Kupnusuk”
2300, 4500 * Lbem: cepsiu 4500 11700
o e Xenmid b ==
S S 8 RLO00
D - [e®]
] T EE= % 4 EE===D
i =l Maumka mpomyapHas L 500 2300
o ¥ + +
11700 — . k500 @ "Kupnuyuk”.
i K L[Bem: xenmeil
1500 24000 4 000 {Fb 23 000 1500
Y -
S
5 ¥
(e
S R =
= = =
—
1000, &
@ P oA &
o «Q} (@]
g g %hj 000
, 3000 , 26 250 1500, 26 250 , 3000 ,

60 000

*

-~



